
Math 241 Fall 2017 Dr. Hadari
Classwork 9 Name:

Show all work and circle/box your final answer. All answers must be simplified unless stated
otherwise. If you finish early, you may leave with my approval.

1. (0 points) Use Newton’s method to find the positive fourth root of 2 by solving the equation
x4 − 2 = 0. Start with x0 = 1 and find x2.

2. (0 points) A farmer has 2400 ft of fencing and wants to fence off a rectangular field that
borders a straight river. He needs no fence along the river. What are the dimensions of the
field that has the largest area?
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